Mathématiques 1MRenf NE-ch.4: Fonctions polyndmes

Exercice 21.

a) e f(z) =32 -2 +z+1 ; gx)=222-1

e division euclidienne :

début :
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en entier :
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e Egalité fondamentale : | f(z) = (222 — 1) <— x— —> + 5% + =

b) e f(zx)=223—-1 ; glx)=3—2>+z+1

e division euclidienne :
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e Egalité fondamentale : f(:c):§(3:c - +x+1)+§x 3%~ 3

82 Gymnase de Burier/Chl



Mathématiques 1MRenf NE-ch.4: Fonctions polyndmes

c) o fle)=Ta° —a* +62° —Tx ; g(x)=T2%—2x

e division euclidienne :

Tx® — 2t + 623 —Tx |72 —x
— 720 + a3 2? =iz +1
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e Egalité fondamentale : | f(z) = (72° — z) (3:2 —zat 1) — —2% -6z

d) e f(x) =62 + 423 —T2* ; g(x)=22">-3

e division euclidienne :

62t + 423 — Ta? 222 — 3
— 62t + 922 3242+ 1

Ax3 + 222
— 43 + 67
202 + 6
— 222 +3

6z + 3

e Egalité fondamentale : | f(z) = (222 — 3)(32* + 22 + 1) + 62 + 3

e) o f(z) = 142" — 2723 + 212> =32 —2 ; g(z) =22> — 3z +2
e division euclidienne :
14x* — 2723 + 2122 — 32 — 2| 222 — 32 + 2
— 14z* + 2123 — 1422 Tx? —3x—1
— 623 + T2? — 3z
6x3 — 922 + 62

— 222 43 —2
222 — 31 + 2
0

e Egalité fondamentale : | f(z) = (20* — 3z + 2)(72* — 3z — 1)
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